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3agauya S-8.1.
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Koweanes Amumpud
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M—=—4 xHwm.

P=3xH, Q=4xH, a=60°, $=30°, p=1 kH/m,

3agaua S-8.2.
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3eaenros Andpeti
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P=5xH, Q=2xH, a=45°, 5=60°, p=3 kH/m,

M=5 xkHwm.

3agaua S-8.3.

Anexcandpos Maxkcum
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P=8xH, Q=9xH, a=60°, =45°, p=5 xH/wm,

3agaua S-8.4.
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Ocees Cepeeti
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P=5xH, Q=3xH, a=60°, $=45°, p=4 xH/m,
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M=9 xHwm.

P=6xH, Q=8xH, a=60°, 5=45° p=4 xH/wm,
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M—=6 xHwm. M=6 xkHwm.
3amaua S-8.5. Llanuna Hrna 3amaua S-8.6. M}gm)mmosa B.A.
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P=6xH, Q=4xH, a=60°, $=45° p=3 kH/m,

M=9 xHwm.




3agauya S-8.7. 3amgaua S-8.8.
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P=5xH, Q=3xH, a=60°, 5=30°, p=3 xkH/wm, P=5kH, Q=3xH, a=45°, 5=60°, p=4 xH/wm,
M=6 xHwm. M=T7 xHwm.
3anaga S-8.9. . 3anmaga S-8.10.
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P=3xH, Q=5xkH, a=45°, =60°, p=1 xH/wm, P=2xH, Q=9xH, a=45°, =30°, p=1 xH/wm,
M=2 xHwm. M=T7 xHwm.
3amaua S-8.11. 3amaua S-8.12.
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P=7xH, Q=7xH, a=60°, $=45°, p=4 xH/m, P=7xH, Q=2xH, a=45°, =30°, p=6 xH/m,
M=9 xHwm. M=8 xHwm.
3agaga S-8.13. 3agaua S-8.14.
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P=8kH, Q=9xH, a=60°, =45°, p=6 xkH/wm, P=8kH, Q=8xH, a=45°, =60°, p=5 kH/wm,
M=4 xHwm. M=2 xHwm.
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OTBeThI.
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X4 Yy Xp Yp Xp Yp Mp
1 2.995 13.694 —7.959 9.708 - — — Komenes JImutpuit
2 | — —22.915| —4.536 |27.020 | — |88.162 | — Benenkos Amjpeit
3 | — 34.218 —2.364 |161.347 | — | — —1463.231 | Anexcamapos Makcum
4 | — 53.189 —0.379 52.000 | — 8.602 — Ocees Cepreii
5) — 43.572 —8.657 57.196 — 26.085 — Tamuna ana
6 — —31.062 | 0.172 20.228 — 89.809 | — Mensuaukosa B.A.
7T | — —32.958 | —5.098 |31.529 |— |115.599 | —
8 | — 66.795 —2.036 |64.000 | — |4.268 —
9 16.131 20.051 —10.752 | 11.157 | — | — —
10 | —21.217 | 22.693 | 27.597 |18.393 | — | — —
11| — 52.426 —1.450 |57.938 | — |14.624 |—
12 | — 92.050 —-3.218 | 78.000 | — |— 49.737
13| — 126.364 | —10.364 | 120.928 | — | — —1482.279
14 | —66.608 | — 68.265 118.729 | — | — —195.373
S-8 daitn  08sdfB
1 2:-X,—4-Y,+4878=0; —-2-X,—10-Y, +142.93 =0.
2 6-Ya+3-Yp—127=0; —3-Y4—6-Yp+460.23 =0.
3 Y, = (—342.18)/(—10.0)
4 Ya+1-Yp—-61.8=0; —15-Y4—12-Yp +901.06 = 0.
5 Ya+1-Yp—69.66=0; —15-Y4—12-Yp +966.6 = 0.
6 6-Y4+3-Yp—8306=0;, —3-Y4—6-Yp+445.67 =0.
7110-Ya+5-Yp—24841=0; —5-Y4—10-Yp +991.2 =0.
8 Ya+1-Yp—71.06=0; —20-Y4 —16-Yp + 1404.18 = 0.
9 10-X,—-6-Y,+59=0; 6-X,—15-Y,+263.99 =0.
10 3-X,+10-Y,—-16328=0; 7-X,—5-Y,+261.99 =0.
11 Xe+1-Y,—-67.05=0; —-20-X,—16-Y, +1282.5 =0.
12 Mp = —(1331.02 — (92.05)(15.0))
13 Mp = —(2114.10 — (126.36)(5.0))
14 X, = (266.43)/(—4.0)




